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5. Acertain type of bacteria, given a favorable growth environment, doubles jn pﬁp
EVEDy 6 hours. Given that there were approximately 20 bacteria to start with, ho!
many bacteria will there be in a day and a half (36 hours)?
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g hitting baseballs into the air. When he tosses the ball into the air, his hand is 5 V
ove the ground. He hits the ball when it falls back to a height of 4 feet. WhEtE

aximum height the ball reaches before Jon hits it?

Use the function ht) =168 +25t+5) (1))

(]

filimie s | 1

W
e

O]
[
2
2

<+

Bndd e
e\ DR ¢

@gyodrah
@ i

L—%:df e~

@ \5:@;(,1 *L\H(»;
=5 S‘ﬂr\f

191t
W) = bt~
Qi i





image10.jpeg
-
I
30

L Awatch purchased for $1200 s expectad to gain value ata ratz of 5% each
year. This situation can be modeled by y = 1200(1.05)", where tisthe  * B
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3. A Bald Eagte aives wowards the water to snatch a salmon. The height b, ini
‘meters, of the Eagle above the water after £ seconds after it begins its dive is
approximated by the function k(t) = 5t% — 30t + 45. Determine the time it
takes for the Bald Eagle to reach a heigit of 20 meters.
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Tony Stewart and Danica Patrick are racing at Kalamazoo Speedway. They aré ru:;‘mlger
their qualifying laps when they crash. Stewart's tire flies off of his car and bounc
the fence. What was the maximum height the tire reached?

(Use the function h(t) = -3.52¢ + 17.6t)
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